

$$1) \lim_{n \rightarrow \infty} \frac{4n^2 - 2n + 3}{n^3 + 9} = ?$$

$$\lim_{n \rightarrow \infty} \frac{4n^2 - 2n + 3}{n^3 + 9} = \left[ \frac{\infty}{\infty} \right] = \lim_{n \rightarrow \infty} \frac{\frac{4n^2}{n^3} - \frac{2n}{n^3} + \frac{3}{n^3}}{\frac{n^3}{n^3} + \frac{9}{n^3}} = \lim_{n \rightarrow \infty} \frac{\frac{4}{n} - \frac{2}{n^2} + \frac{3}{n^3}}{1 + \frac{9}{n^3}} = \frac{0}{1} = 0$$

$$2) \lim_{n \rightarrow \infty} \left( n \left( \sqrt{n^2 + 1} - \sqrt{n^2 - 1} \right) \right) = ?$$

$$\lim_{n \rightarrow \infty} \left( n \left( \sqrt{n^2 + 1} - \sqrt{n^2 - 1} \right) \right) = [\infty \cdot [\infty - \infty]] = \lim_{n \rightarrow \infty} \frac{n \left( \sqrt{n^2 + 1} - \sqrt{n^2 - 1} \right) \left( \sqrt{n^2 + 1} + \sqrt{n^2 - 1} \right)}{\sqrt{n^2 + 1} + \sqrt{n^2 - 1}} =$$

$$\lim_{n \rightarrow \infty} \frac{n \left[ (n^2 + 1) - (n^2 - 1) \right]}{\sqrt{n^2 + 1} + \sqrt{n^2 - 1}} = \lim_{n \rightarrow \infty} \frac{2n}{\sqrt{n^2 + 1} + \sqrt{n^2 - 1}} = \left[ \frac{\infty}{\infty} \right] = \lim_{n \rightarrow \infty} \frac{2}{\sqrt{1 + 1/n^2} + \sqrt{1 - 1/n^2}} = \frac{2}{2} = 1$$

$$3) \lim_{n \rightarrow \infty} \sqrt[n]{2 + \sqrt[3]{n}} = ?$$

$$(\forall n > 8) \quad \sqrt[n]{2+2} < \sqrt[n]{2+\sqrt[3]{n}} < \sqrt[n]{\sqrt[3]{n} + \sqrt[3]{n}}, \quad \lim_{n \rightarrow \infty} \sqrt[n]{2} \left( \sqrt[n]{n} \right)^{1/3} = 1 \cdot 1^{1/3} = 1$$

$$\underbrace{\sqrt[n]{4}}_1 < \underbrace{\sqrt[n]{2+\sqrt[3]{n}}}_{\text{II}} < \underbrace{\sqrt[n]{2} \left( \sqrt[n]{n} \right)^{1/3}}_1 \Rightarrow \lim_{n \rightarrow \infty} \sqrt[n]{2 + \sqrt[3]{n}} = 1$$

$$4) \lim_{n \rightarrow \infty} \frac{\arctan 5n}{n^2 + 7} = ?$$

$$\left. \begin{array}{l} 0 < \arctan 5n < \frac{\pi}{2} \\ \lim_{n \rightarrow \infty} \frac{1}{n^2 + 7} = 0 \end{array} \right\} \Rightarrow \lim_{n \rightarrow \infty} \left( (\arctan 5n) \frac{1}{n^2 + 7} \right) = 0$$

